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\draw (x°7y°) - (x\,y\) T T (xnayn);
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\begin{tikzpicture}
\draw (0,0) -- (1,.5);
\draw [line width=bpt,draw=red] (1.2,0) -- (2,1) -- (3,.5);
\draw[->,rounded corners=6pt,line width=2pt,bluel’
(4,1) -- (5,0) -- (6.5,.7) -= (7,0);
\draw[line width=2pt,dashed] (8,0) -- (9,1) -- (10,.5) -- (8,0);

\end{tikzpicture}
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\begin{tikzpicture}

\draw[line width=2pt] (0,0) -- (0:1) --(30:1);
\draw[line width=2pt] (2,0) -- (2+1,27.5);
\end{tikzpicture}
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\begin{tikzpicture}
\draw[very thick] (0,0) to [out=90,in=195] (2,0);
\draw[very thick] (2.5,0) to [out=90,in=90] (3.5,0);
\draw[very thick] (4.5,0) to [out=45,in=135]

(5.5,0) to [out=-45,in=-135] (6,0) ;
\draw [<->,thick, cyan] (7,0) to [out=90,in=180] (8,1)
to [out=0,in=180] (9.5,0) to [out=0,in=-135] (11,1) ;
\end{tikzpicture}
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\draw(x.,y.) rectangle (xy,yy);
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\begin{tikzpicture}

\draw (0,0) rectangle (2,1);

\draw (-0.5,-0.5) rectangle (-1,-1);
\draw (3,0) rectangle +(1.5,1);
\draw (5,1) rectangle +(1,-1);
\end{tikzpicture}

]

\begin{tikzpicture}

\draw[step=.25cm] (-2,-1) grid (3,2);
\draw[step=.5cm] (3.75,-.75) grid (6.7,2.3);
\end{tikzpicture}
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\draw (z,y) circle (r ecm);
\draw (x,y) ellipse (ryem and rycem);

\begin{tikzpicture}

\draw[line width=2pt] (0,0) circle (1cm);

\draw [line width=2pt](3,1) circle (.5cm);

\draw [line width=2pt](3,0) ellipse (lcm and .75cm);
\end{tikzpicture}
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\begin{tikzpicture}

\fill[green!20!white,ultra thick] (0,0) rectangle (1,1);

\draw [fill=red,ultra thick,red] (2,0) rectangle (3,1);

\filldraw [blue, fill=blue] (4,0) -- (5,1) -- (4.75,0.15) -- (4,0);
\draw [fill] (7,0.5) circle [radius=0.1];

\draw [fill=orange] (9,0) rectangle (11,1);

\draw [fill=white] (9.25,0.25) rectangle (10,1.5);
\end{tikzpicture}
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\begin{tikzpicture}[rounded corners,ultra thick]
\shade [top color=yellow,bottom color=black] (0,0) rectangle (2,1);

v



\shadedraw[inner color=yellow,outer color=red,draw=black]

(3,0) rectangle +(2,1);

\shade[left color=yellow,right color=black] (6,0) rectangle +(1,1);
\shadedraw[inner color=yellow,outer,

color=red,draw=yellow] (7.5,0) rectangle +(2,1);

\shade[ball color=yellow] (4,-.50) circle (.5cm);
\end{tikzpicture}

—gln

B beta & 5 ga b o aly SIS L plad 4ol Mbuww
D9 s

\draw (z,y) arc (a: B: r);
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\begin{tikzpicture}

\draw (0,0) arc (10:80:1cm );

\draw (2,0) arc (0:90:1cm );

\draw (6,0) arc (0:250:1.75cm and 1cm);
\end{tikzpicture}
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\begin{tikzpicture}

\draw (0,0) -- (0:4) -- (30:3) -- cycle;
\filldraw[fill=blue!20!white, draw=black]
(0,0) -- (0:.5) arc (0:30:.5) -- cycle;
\end{tikzpicture}

\filldraw[thick,fill=black!10] (0,0) circle (1.3cm);
\draw(0,0) -- (100:1.3);



\draw (1.35cm,8mm) node[above] {$100"\circ$};

\draw(0,0) -- (180:1.3);

\draw (-10mm,10mm) node[above] {$80"\circ$};

\draw(0,0) -- (260:1.3) ;\draw (-13mm,-13mm) node [above] {$80"\circ$};
\draw(0,0) -- (320:1.3) ;\draw (4mm,-18mm) node[above] {$60"\circ$};
\draw(0,0) -- (0:1.3);\draw (16mm,-9mm) node[above] {$40"\circ$};
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\begin{tikzpicture}

\fill[red!20!white] (0,0) -- (2,0) arc (0:50:2cm) -- (0,0);
\fill[green!60!white] (0,0) -- (50:2) arc (50:180:2) -- (0,0);
\end{tikzpicture}
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\begin{tikzpicture}
\filldraw[fill=blue!20!white, draw=red!50!black]
(0,0) -- (2,0) arc (0:30:2) -- (0,0);
\filldraw[fill=blue!20!white, draw=red!50!black]
(3,0) -- (5,0) arc (0:30:2) -- cycle;
\end{tikzpicture}
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\begin{tikzpicture}

\shadedraw[left color=red!90,right color=green!80, draw=blue]
(0,0) -- (2,0) arc (0:60:2) -- cycle;

\end{tikzpicture}
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\begin{tikzpicture}

\draw (0,0) -- (4,0) -- (3,2) -- cycle;
\filldraw[fill=blue!20!white, draw=black]
(0,0) -- (.5,0) arc (0:33:.5) -- cycle;
\filldraw[fill=blue!20!white, draw=black]
(4,0) -- (3.5,0) arc (180:117:.5) -- cycle;
\end{tikzpicture}
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\begin{tikzpicture}

\draw[step=1cm,gray,very thin] (-.4,-.4) grid (2.4,2.4);
\draw [thick, <->] (0,2) -- (0,0) -- (2,0);

\node at (1,1) {\rl{ }};

\end{tikzpicture}
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\begin{tikzpicture}

\draw [thick, <->] (0,2) -- (0,0) -- (3,0);

\draw[fill] (2,1) circle [radius=0.025];

\node [below right, red] at (2,1) {\rl{ ;A

\node [above left, green] at (2,1) {\rl{ ;{{

\node [below left, purple] at (2,1) {\rl{ ;{{

\node [above right, magental at (2,1) {\rl{ ;L

\end{tikzpicture}




\draw [thick, <->] (0,2) -- (0,0) -- (3,0);
\draw[fill] (2,1) circle [radius=0.025];

\node [below right, red] at (2,1) {\rl{ ;{{
\node [above left, green] at (2,1) {\rl{ ;{{
\node [below left, purple] at (2,1) {\rl{ ;{{
\node [above right, magental at (2,1) {\rl1{ ;{{
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\begin{tikzpicture} [xscale=3, yscale=1.5]
\draw [thick, <->] (0,1) -- (0,0) -- (1,0);
\node [below right] at (1,0) {$x$};

\node [left] at (0,1) {$y$};

\draw[fill] (.4,.6) circle

[radius=.5pt];

\node [above right] (.4,.6) {$A$};
\end{tikzpicture}
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\\begin{tikzpicture} [xscale=1.5]

\draw [thick] (0,0) node

[below left]{$A$} -- (2,0) node[below right]{$B$} -- (.5,1)
node [above] {$C$} --(0,0);

\end{tikzpicture}
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\begin{tikzpicture}
\node (C) {$C$};
\node (P) [below of=C] {$\prod_{i \in I} A_i$};
\node (Ai) [right of=P] {$A_i$};
\draw[->] (C) to node {$f_i$} (Ai);



\draw[->, dashed] (C) to node [swap] {$\langle f_i \rangle_{i \in I}$} (P);
\draw[->] (P) to node [swap] {$\pi_i$} (Ai);
\end{tikzpicture}
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\begin{tikzpicture}[line width=1.5pt]l%[style={very thick}]
\node (P) {$P$};
\node (B) [right of=P] {$B$};
\node (A) [below of=P] {$A$};
\node (C) [below of=B] {$C$};
\node (P1) [node distance=1.94cm, left of=P, above of=P] {$\hat{P}$};
\draw[->] (P) to node A{$\bar{f}$} (B);
\draw[->] (P) to node [swap] {$\bar{g}$} (4);
\draw[->] (A) to node [swap] {$£$} (C);
\draw[->] (B) to node {$g$} (C);
\draw[->, bend right ] (P1) to node [swap] {$\hat{g}$} (A);
\draw[->, bend left] (P1) to node {$\hat{f}$} (B);
\draw[->, dashed] (P1) to node {$k$} (P);

\end{tikzpicture}
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\begin{tikzpicture}[%
back line/.style={densely dotted},
cross line/.style={preaction={draw=white, -,line width=6pt}}]
\node (4) {$A$};
\node [right of=A] (B) {$B$};

\node [below of=A] (C) {$C$I};
\node [right of=C] (D) {$D$};
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\node (A1) [right of=A, above of=A, node distance=1cm] {$A"\prime$};
\node [right of=A1] (B1) {$B~\prime$};
\node [below of=A1] (C1) {$C~\prime$l};
\node [right of=C1] (D1) {$D"\prime$};

\draw[back line] (D1) -- (C1) -- (A1);
\draw[back line] (C) -- (C1);
\draw[cross 1line] (D1) -- (B1) -- (A1) -- (A) —-- (B) -- (D) —- (C) —— (A);
\draw (D) -- (D1) -- (B1) -- (B);
\end{tikzpicture}

\begin{tikzpicture}
\node (A) {$A$};
\node [right of=A] (B) {$B$};
\draw[->] (A) to node {$f$} (B);
\path (A) to node [swap] {$g$} (B);
\end{tikzpicture}



